Waimea Canyon Drive/Kokee Road Improvements, Phase 2A Mile PROJECT: PROJECT NO.: STP-0550(005) NET LENGTH: ISLAND: ISLAND: DISTRICT: Waimea TYPE CODE: 3, 43 DATE ADVERTISED: BID OPENED: October 21, 2022 November 17, 2022 COMPLETION TIME: Two-hundred Fifty (250) Working Days			and the second of the second of the second			GRACE PA	CIFIC LLC		RKS PACIFIC NC.		UILDERS DRATION	JAS. W. G	GLOVER, Ltd.		LLOW BROS. LLC.	DEPAR TRANSI	OF HAWAII RTMENT OF PORTATION YS DIVISION
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.1001	Clearing and Grubbing	2	AC.	2	AC.	\$59,050.00	\$118,100.00	\$80,000.00	\$160,000.00	\$165,000.00	\$330,000.00	\$75,000.00	\$150,000.00	\$75,000.00	\$150,000.00	\$4,000.00	\$8,000.00
203.0100	Roadway Excavation	2400	C.Y.	2400	C.Y.	\$250.00	\$600,000.00	\$200.00	\$480,000.00	\$281.00	\$674,400.00	\$425.00	\$1,020,000.00	\$250.00	\$600,000.00	\$37.50	\$90,000.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	L.S.	L.S.	L.S.	L.S.	L.S.	\$309,700.00	L.S.	\$260,000.00	L.S.	\$672,000.00	L.S.	\$300,000.00	L.S.	\$525,000.00	L.S.	\$250,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	F.A.	F.A.	\$250,000.00	F.A.	\$250,000.00	F.A.	\$250,000.00	F.A.	\$250,000.00	F.A.	\$250,000.00	F.A.	\$250,000.00
301.0100	Hot Mix Asphalt Base Course	2100	TN	2100	TN	\$390.00	\$819,000.00	\$460.00	\$966,000.00	\$520.00	\$1,092,000.00	\$630.00	\$1,323,000.00	\$900.00	\$1,890,000.00	\$267.50	\$561,750.00
305.0100	Aggregate Subbase	1700	C.Y.	1700	C.Y.	\$524.00	\$890,800.00	\$420.00	\$714,000.00	\$584.00	\$992,800.00	\$600.00	\$1,020,000.00	\$1,080.00	\$1,836,000.00	\$400.00	\$680,000.00
401.0410	PMA Pavement, Mix No. IV	5200	TN	5200	TN	\$406.00	\$2,111,200.00	\$450.00	\$2,340,000.00	\$393.00	\$2,043,600.00	\$450.00	\$2,340,000.00	\$400.00	\$2,080,000.00	\$450.00	\$2,340,000.00
401.0900	Pavement Smoothness Incentive	Allow	Allow	Allow	Allow	Allow	\$3,000.00	Allow	\$3,000.00	Allow	\$3,000.00	Aloow	\$3,000.00	Allow	\$3,000.00	Allow	\$3,000.00
414.0110	Excavation of Weakened Pavement Areas	900	C.Y.	900	C.Y.	\$195.00	\$175,500.00	\$525.00	\$472,500.00	\$300.00	\$270,000.00	\$350.00	\$315,000.00	\$200.00	\$180,000.00	\$150.00	\$135,000.00
415.0110	Cold Planing of Existing Pavement	29,500	S.Y.	29500	S.Y.	\$10.00	\$295,000.00	\$22.00	\$649,000.00	\$23.00	\$678,500.00	\$21.00	\$619,500.00	\$20.00	\$590,000.00	\$12.00	\$354,000.00
603.0100	Clean Existing Culverts	F.A.	F:A.	F.A.	F.A.	F.A.	\$60,000.00	F.A.	\$60,000.00	F.A.	\$60,000.00	F.A.	\$60,000.00	F.A.	\$60,000.00	F.A.	\$60,000.00
606.2000	31" W-Beam Guardrail with Standard 8" Offset Block, Steel 6-Ft Posts	3800	L.F.	3800	L.F.	\$130.00	\$494,000.00	\$100.00	\$380,000.00	\$102.00	\$387,600.00	\$100.00	\$380,000.00	\$115.00	\$437,000.00	\$120.00	\$456,000.00
606.2008	31" W-Beam Guardrail with Standard 8" Offset Block, Steel 8-Ft Posts, Double Nested with Rubrail	240	L.F.	240	L.F.	\$283.00	\$67,920.00	\$125.00	\$30,000.00	\$127.00	\$30,480.00	\$120.00	\$28,800.00	\$220.00	\$52,800.00	\$175.00	\$42,000.00

Sheet No. 1 of 4 Sheets

PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED:	Kauai Waimea 3, 43	** NOTE: Quantities shown in these columns are for in-house use				GRACE PACIFIC LLC EARTHWORKS PACIFIC INC					BUILDERS ORATION	JAS. W. C	GLOVER, Ltd.		LLOW BROS. LLC.	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
606.5000	Terminal Section, MSKT-SP-MGS, SoftStop, Max Tension or Approved Equal	26	EACH	26	EACH	\$9,490.00	\$246,740.00	\$9,000.00	\$234,000.00	\$9,320.00	\$242,320.00	\$9,000.00	\$234,000.00	\$7,000.00	\$182,000.00	\$16,050.00	\$417,300.00
606.5100	Type A End Section	6	EACH	6	EACH	\$29,850.00	\$179,100.00	\$6,400.00	\$38,400.00	\$6,510.00	\$39,060.00	\$6,000.00	\$36,000.00	\$22,000.00	\$132,000.00	\$40,000.00	\$240,000.00
629.1010	Double 4-inch Pavement Striping (Thermoplastic Extrusion)	14,350	L,F.	14,350	L.F.	\$7.50	\$107,625.00	\$6.00	\$86,100.00	\$7.00	\$100,450.00	\$2.50	\$35,875.00	\$5.50	\$78,925.00	\$4.00	\$57,400.00
629.1020	6-Inch Pavement Striping (Thermoplastic Extrusion)	29,300	L.F.	29,300	L.F.	\$6.00	\$175,800.00	\$5.00	\$146,500.00	\$5.00	\$146,500.00	\$2.80	\$82,040.00	\$4.50	\$131,850.00	\$2.00	\$58,600.00
629.1050	12-Inch Pavement Striping (Thermoplastic Extrusion)	40	L,F.	40	L.F.	\$9.50	\$380.00	\$8.00	\$320.00	\$8.00	\$320.00	\$27.00	\$1,080.00	\$7.00	\$280.00	\$2.00	\$80.00
629.2020	Type C Pavement Marker	1,400	EACH	1,400	EACH	\$10.90	\$15,260.00	\$9.00	\$12,600.00	\$9.00	\$12,600.00	\$12.00	\$16,800.00	\$8.00	\$11,200.00	\$10.50	\$14,700.00
629.2030	Type D Pavement Marker	2,800	EACH	2,800	EACH	\$10.90	\$30,520.00	\$9.00	\$25,200.00	\$9.00	\$25,200.00	\$12.00	\$33,600.00	\$8.00	\$22,400.00	\$10.50	\$29,400.00
630.1100	Panel for Destination Sign (Flat Panel)	60	S.F.	60	S.F.	\$117.00	\$7,020.00	\$90.00	\$5,400.00	\$116.00	\$6,960.00	\$110.00	\$6,600.00	\$95.00	\$5,700.00	\$100.00	\$6,000.00
630.1610	4.00 lbs/ft Flanged Channel Post for Destination Sign	4	EACH	4	EACH	\$841.00	\$3,364.00	\$675.00	\$2,700.00	\$640.00	\$2,560.00	\$600.00	\$2,400.00	\$620.00	\$2,480.00	\$350.00	\$1,400.00
631.0110	Regulatory Sign (10 Sq. Ft. or Less)	9	EACH	9	EACH	\$1,060.00	\$9,540.00	\$850.00	\$7,650.00	\$618.00	\$5,562.00	\$600.00	\$5,400.00	\$785.00	\$7,065.00	\$600.00	\$5,400.00
631.0230	Warning Sign (10 Sq. Ft. or Less)	12	EACH	12	EACH	\$1,060.00	\$12,720.00	\$850.00	\$10,200.00	\$894.00	\$10,728.00	\$850.00	\$10,200.00	\$785.00	\$9,420.00	\$600.00	\$7,200.00
631.0300	Miscellaneous Sign	10	EACH	10	EACH	\$1,060.00	\$10,600.00	\$850.00	\$8,500.00	\$629.00	\$6,290.00	\$600.00	\$6,000.00	\$785.00	\$7,850.00	\$600.00	\$6,000.00
631.0400	Supplemental Plaque	6	EACH	6	EACH	\$1,060.00	\$6,360.00	\$850.00	\$5,100.00	\$271.00	\$1,626.00	\$270.00	\$1,620.00	\$785.00	\$4,710.00	\$450.00	\$2,700.00
632.0500	Milepost Marker with Post (Bi-Directional)	6	EACH	6	EACH	\$949.00	\$5,694.00	\$750.00	\$4,500.00	\$783.00	\$4,698.00	\$750.00	\$4,500.00	\$700.00	\$4,200.00	\$500.00	\$3,000.00
632.0120	Reflector Marker (RM-3) with Steel Post	80	EACH	80	EACH	\$427.00	\$34,160.00	\$325.00	\$26,000.00	\$453.00	\$36,240.00	\$450.00	\$36,000.00	\$315.00	\$25,200.00	\$180.00	\$14,400.00
632.0122	Reflector Marker (RM-3) with Flexible Delineator	20	EACH	20	EACH	\$427.00	\$8,540.00	\$325.00	\$6,500.00	\$309.00	\$6,180.00	\$300.00	\$6,000.00	\$315.00	\$6,300.00	\$180.00	\$3,600.00

Sheet No. 2 of 4Sheets

PROJECT: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED:	2.5 Miles Kauai Waimea 3, 43	** NOTE: Qua these columns us **APPROX.		e e		GRACE PACIFIC LLC		EARTHWORKS PACIFIC INC		ROAD BUILDERS CORPORATION		JAS. W. GLOVER, Ltd.		GOODFELLOW BROS. LLC.		DEPART TRANSPO	OF HAWAII IMENT OF ORTATION IS DIVISION
ITEM NO.	ITEM	QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
632.1012	Type II Object Marker (OM2-2H)	35	EACH	35	EACH	\$136.00	\$4,760.00	\$100.00	\$3,500.00	\$127.00	\$4,445.00	\$125.00	\$4,375.00	\$100.00	\$3,500.00	\$70.00	\$2,450.00
632.1022	Type II Object Marker (OM2-2V)	18	EACH	18	EACH	\$54.50	\$981.00	\$45.00	\$810.00	\$146.00	\$2,628.00	\$140.00	\$2,520.00	\$40.00	\$720.00	\$70.00	\$1,260.00
632.1050	Type V Object Marker (OM-5)	26	EACH	26	EACH	\$298.00	\$7,748.00	\$240.00	\$6,240.00	\$567.00	\$14,742.00	\$520.00	\$13,520.00	\$220.00	\$5,720.00	\$550.00	\$14,300.00
636.1000	Additional E-Construction Programs, Additional Licenses Additional Equipment	F.A.	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
641.0110	Hydro-Mulch Seeding	9,680	S.Y.	9,680	S.Y.	\$14.80	\$143,264.00	\$12.00	\$116,160.00	\$33.60	\$325,248.00	\$12.00	\$116,160.00	\$30.00	\$290,400.00	\$6.50	\$62,920.00
645.1000	Traffic Control	L.S	L.S.	L.S.	L.S.	L.S.	\$508,100.00	L.S.	\$1,400,000.00	L.S.	\$1,054,000.00	L.S.	\$1,354,010.00	L.S.	\$1,264,750.00	L.S.	\$300,000.00
645.2000	Additional Police Officers, Additional Traffic Control Devices	F.A.	F.A.	F.A.	F.A.	F.A.	\$200,000.00	F.A.	\$200,000.00	F.A.	\$200,000.00	F.A.	\$200,000.00	F.A.	\$200,000.00	F.A.	\$200,000.00
648.1000	Field Posted Drawing	L.S.	L.S.	L.S.	L.S.	L.S.	\$1,360.00	L.S.	\$5,000.00	L.S.	\$10,000.00	L.S.	\$2,000.00	L.S.	\$4,995.00	L.S.	\$50,000.00
671.1000	Protection of Threatened and Endangered Species	F.A.	F.A.	F.A.	F.A.	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00
	Mobilization (Not to Exceed 6% of the Sum of All Items Excluding the Bid Price of this Item)	L.S.	L,S.	L.S.	L.S.	L.S.	\$475,000.00	L.S.	\$548,752.80*	L.S.	\$584,500.00	L.S.	\$550,000.00	L.S.	\$659,000.00	L.S	\$405,471.60

Sheet No. 3 of 4 Sheets

PROJECT: Post 11.5 PROJECT NO.: STP-055 NET LENGTH: 2.5 Miles ISLAND: Kauai DISTRICT: Waimea TYPE CODE: 3, 43 DATE ADVERTISED: October BID OPENED: Novemb	0(005) S 21, 2022 er 17, 2022	** NOTE: Quantities shown in these columns are for in-house use.			GRACE PACIFIC LLC		EARTHWORKS PACIFIC INC		ROAD BUILDERS CORPORATION		JAS. W. G	JAS. W. GLOVER, Ltd.		LLOW BROS. LLC.	DEPAR TRANSF	OF HAWAII TMENT OF PORTATION YS DIVISION	
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
A. Sum	of All Items						\$8,418,856.00		\$9,694,632.80		\$10,357,237.00		\$10,600,000.00		\$11,744,465.00		\$7,163,331.60
	Furnish Foreign Steel Not to Exceed Minimal Amount (Fill in						\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
Furnis	h Foreign Steel in Excess of Minimal Amount (Fill in 25% x A	۸)															
C. Hawa	ii Apprenticeship Programs Preferences						\$0.00		\$484,731.64		\$517,861.85		\$0.00		\$0.00		\$0.00
D. Amou	unt for Comparison of Bids (A + B - C)						\$8,418,856.00		\$9,209,901.16*		\$9,839,375.15		\$10,600,000.00		\$11,744,465.00		\$7,163,331.60
								*Price of item	no. 699.1001								

*Price of item no. 699.1001 adjusted to to meet the maximum mobilization cost of 6%.

I certify that this is a true and correct tabulation of bids for this project.

Dec 9, 2022

Eric Fujikawa, Project Manager

Date

Sheet No. 4 of 4 Sheets